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t3 9 24 64,98 700 18,740 o,r 47 97 650 8 840 7,07 9,900 772
t4 19 24 63,95 700 19,0 10 67 47 .46 6,50 9,580 649 ),430 739
25 9 24 53 64,14 700 18,970 65 4J q\ 650 9 310 659 9,660 752
26 9 24 55 66,48 700 19,960 6q 48,98 650 9 990 250 9,970 15
27 9 24 56 66,83 700 20,0 10 7,0 4q q, 6,50 10,070 691 ) 940 15

28 9 24 0 65.27 700 21,480 73 49,15 6,50 10,490 6,72 990 86/
948t9 9 24 63 65,63 700 22,s30 7,r 49,38 650 10,290 2,240

]0, 12.19 24 63 65,79 700 22,s50 7.7 50,18 650 i 1,020 561 s30 909
l.t2 9 24 73 66,3s 7,00 26.4r0 81 52,18 6,50 1 1,640 4,r1 770 l)4
1,01,20 24 49 64 84 700 Lt ,590 65 47,77 650 9 360 /,67 230 680

)2 20 24 52 64,92 700 t8,640 b1 47,32 650 8 730 760 9.910 713
)3,01.20 24 52 64 87 700 t8,6 10 ol 47.29 50 8,880 7s8 9,730 768
)4,01,20 24 65,02 7,00 19,270 qo 47 .53 650 8 s40 749 730 827
)5,01,20 l 63,64 700 r8,470 o.t 46 64 650 9 050 700 | 420 734
)6,0 1,20 24 64 87 7,00 19,400 bL 47 ,t4 650 8,770 7,73 0,630 824
)7,0r 20 54 65,03 1,00 19,5 10 61 47.68 650 8 790 7 .35 10.720 26
)8,01 20 24 5;7 65,24 7,40 20.500 56 47,92 6s0 8,130 7,32 2,370 924
)9,01,20 24 53 700 t9,1 10 5,9 47 87 8,530 /,18 580 811

/5410,01,20 24 52 64 qq 700 18,730 6,4 47 ,42 6,50 9.2,r0 7 .53 520

1,01,20 74 65,01 7,40 L9,240 62 41 ,24 6,50 B B7t) 777 10,370 806
2.41,20 66 65,70 7,40 )? qRn 62 48,89 650 B 980 6 81 4 600 082.
3.01,20 24 5.3 6q 1? 740 t9,050 b1 47 ,54 6,50 8,1t0 758 280 /9/

14 0t 20 24 56 66,93 700 20,t40 7,6 49 84 650 l0 880 709 9,260 785
15,01,20 24 60 66 11 7.00 2r.410 89 50,99 650 12,780 5,72 ) 690 762

6C 20 24 65 67,14 700 23,450 91 52,42 6,50 3 0/0 5,32 0,380 79
7 20 24 6,1 67 ,55 7,40 22,020 92 52,1,7 6.50 3 180 544 840 782

18,01.20 24 69 65,92 700 24.844 B9 5r,77 2 770 4t5 2 070 956
19,01,20 71 66,40 t00 25,670 85 5t,97 650 2 220 443 3,450 )45
t0t 20 24 6q q? 700 20,617 7,Q 48 91 6,50 0 u26 662 0 650 147

20 24 65,s3 700 20,677 7,0 4R q1 6,50 10,026 6,62 0,650 841
I 20 24 Aq (? 740 20,677 1,0 48,91 6,50 10,026 6,6 0,650 841

700 20,677 48 9r 6,5( 10,026 10,65t
14TOTO 744,0 640,980 0 00( i 10,819 0 00( 330,16 0,0( 0,0t 2.6,09

OpreHThpoBo.ilro Ao Koilqa Nlecrqa(+)
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